Webwork problem about rowing
across a lake
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Webwork limit problem
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Mathematics 100 and 180 Page 17 of 17 Student-No.:

12. (a) Let g(z) be a continuous function for which ¢'(z) and ¢”(z) exist. If g(z) has at least
three zeros, then how many zeros must ¢'(z) and ¢”(z) have? Explain your answer
carefully.
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(b) Consider the equation 22 — 3 +-sin(z) + cos(z) = 0. Show that this has at least two

solutions.

» - e ™ B sfres ¥ - .
{ ‘ﬁ[V\ =2 {Z -+ Using the IVT:
#e £ 5 condaucul eveywhs . : —j:\)’[t

tace O 1)
. - ,3+5‘."4/0+@/ /e > O S(ﬁq
Flie) =200 otw flw)
ficy = -3+0 £ <O £00) hor o nAt
i (c,10).
‘C/‘_/O) ;20‘0 ’) ,S,.!/]/O’f@/[” > - thc’ O % Io‘{w

£(-1a) ¢t £,

) hao a Seecen)
f()o’l‘ l'/, [/LO, 0)
(c) Show that the same equation cannot have more than two solutions. Part (a) will help
you here.
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This part is continuing part (a)

from the previous page
(Question 12)
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This was a reminder of the logic
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